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PiecewiseFunction Answers for No.9124

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -9 | -8 | =7 | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 11 2 1] -1 | -3 -5 | =7 | -9 | -11 | -13 | =15 |
AnsO2 : f(x)| -9 -8 -7 -6 =51 -4 | -3 -2 -1/ ol =21 -4 -4 1| -4 -4 | -4 -4 -4 -4 | -4 -4
Ans03
—x-3 ; x<-I
f(x):[ }
2x+1 ; x>=-1
f('4):1’ af('3):07 ’f('l):'la ,f(2):5, ’f(3):7
Ans04
2x+3 x< -3
fix)=| -5 ; -3 <x<=3
—-x-2 x> 3
f(-4)=-5, ,f(-3)=N4, ,f(-2)=-5, ,f(1)=-5 ,f(3)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-8 |  undefined | 2 | 2 | 2 | Discontinuous
=7 | 2 2 | 2] 2 | Continuous
-5 | undefined | 1 1 1 | Discontinuous |
1] 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9197

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | NA | -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1| 2 | 3 4 | 5 | 6 |
Ans02 : f(x)| -25 | -23 | -21 | -19 | -17 | =15 | =13 | =11 | =9 | -7 | 2 1] 1| 1] 1| 1 1| 1| 1| 1| 1
Ans03
2x-1 ; x<2
f(x){
—1-x ; x> 2
f(-3)=-7, ,f(0)=-1, ,f(l)=1, ,f(2)=N4, ,f(4)=-5
Ans04
2x+2 x< -3
f(x)= 5 ;-3 <x<=3
x+2 N x> 3
f('4):10’ 7f('3):NAa ,f(-2):5, ,f(-l)zs, ’f(3):5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
2 4 | 2 | 4 | DNE | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |
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PiecewiseFunction Answers for No.9252

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 13 | 12 | 11 | 10 | 9 | 8 | 7 -3 | -1 | 1 3| 5 7 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
AnsO2 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | =10 | -8 | -8 ] -8 | -8 -8 | -8 | 2| 1] ol -1 -2 1 =31 =41 =51
Ans03
3—-x ,; x< -1
f(x){
2x+2 ; x>=-1
f('4):7’ af('3):67 ’f('z):sa ,f(-l):(), ’f(l):4
Ans04
3—-x x< -2
fix)=| 5 ;s -2 <x<2
2x+2 x>=2
f(-4)=7, ,f(-2)=N4, ,f(-1)=5, ,f(2)=6, ,f(3)=8
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-6 | 2 | 2 | 2 | 2 | Continuous
5 | 2 2 2] 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9312

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -21 | -19 | -17 | =15 | -13 | -11 | -9 | =7 1 -5 | NA | -5 | -6 | =7 | -8 | -9 | -10 | =11 | =12 | =13 | -14 | =15 |
Ans02 : f(x)| -12 | -11 | -10 | -9 | -8 | -7 -6 ] -5 -4 ] -3 3 | NA | 1| 1 1] 1| 1] 1| 1 1] 1
Ans03
2x+1 ; x<=-2
f(x){
2—-x ; x> -2
f(-2)=-3, ,f(-1)=3, ,f(0)=2, ,f(3)=-1, ,f(4)=-2
Ans04
4 K x< -1
fix)=] 3—x , -1 <x<=3
2x-1 x> 3
f(-4)=4, ,f(-1)=N4, ,f(0)=3, ,f(3)=0, ,f(4)=7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -3 | wundefined | infinity | infinity | infinity | Discontinuous |
1 | 4 | 1 1 1 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
9 | 4 | 1 1 1 | Discontinuous |
12 | 3 3 3 3 | Continuous
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PiecewiseFunction Answers for No.9397

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 23 | 21 | 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3 | NA | 4 | 5 6 | 7 8 | 9 | 10 | 11 | 12 |
AnsO2 : f(x)| -7 -7 -7 -7 =7V -7 =71 -7 -7 -6 -5 -4 -3 | NA | -10 | -12 | -14 | -16 | -18 | =20 | -22 |
Ans03
2x+3 ;o x< -2
f(x){
-x-3 ; x>=-2
f(-2):-1, af(l):'47 ,f(2):-5, af(3):'67 ’f(4):'7
Ans04
4 K x< -1
fix)=] 3—x , -I1<=x<3
2x+3 x>=3
f(-4)=4, ,f(-1)=4, ,f(1)=2, ,f(3)=9, ,f(4)=11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2] 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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PiecewiseFunction Answers for No.9449

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 23 | 21 | 19 | 17 | 15 | 13 | 11 | 9 | 7 5 3| 1 -1 | -3 | 3 4 | 5 | 6 | 7 8 | 9 |
Ans02 : f(x)| 1] 1| 1| 1| 1| 1| 1| 1| 1| 2| 3| -71 -9 -11 | -13 | =15 | =17 | =19 | =21 | =23 | =25 |
Ans03
2x+2 ; x<1
f(x){
x+1 ;ox>=1
f(-3)=8, ,f(-2)=6, ,f(-1)=4, ,f(1)=2, ,f(4)=5
Ans04
1 N x< -1
fix)={2x-1 ,; -1 <x<1
x+2 N x>=1
f(-4)=1, ,f(-1)=N4, ,f(1)=3, .f(2)=4 ,f(3)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-4 | 2 | 2 | 2 | 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
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PiecewiseFunction Answers for No.9562

X

x| -0 -91 -8 -7 -61 -5 -4 ] =3 -2 | =1 0 1 2 3 4 | 5 | 6 | 7 |10 |
Ans01 f(x)| -18 | -16 | -14 | -12 | =10 | -8 | -6 | -4 -2 | 0 | 2 4 | NA | 2 11 0 | -1 | -2
Ans02 f(x)| 0 | 0 | 0 | 0 | 0 | 0 | 0 | 0 0O NA | =2 -4 | 4 | 5 | 6 | 7 8 | 9
Ans03
x+3 sox< 2
f(x):[ }
2x+3 ; x>=2
f(-4)=-1, ,f(-2)=1, ,f(1)=4, ,f(2)=-1, ,f(3)=-3
Ans04
x+3 : x< -1
f(x)= 2 ;, -l<=x<=1
2x-1 N x> ]
f(-2)=1, ,f(-1)=2, ,f(0)=2, ,f(1)=2, ,f(3)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
5 | 2 2 2] 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
12 3 3 3 3 | Continuous
[R:ECRESIUA D 0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0:0.0.0:0.0:0:0.0:0:0.0.0.0:0:0.0:0:0.0:0.0.:0:0.0:0.0:0:0.0:0:0:0.0.0:0:0:0:0:0.0.0.0:0:0.0.0.0:0:0.0:0:0.0:0.0:0:0:0:0:0:0:0.0:0:0:0:0.0.:0:0.0:0.0:0:0.0:0:0.0:0.0.0.0.0:0:0.0:0:0.0.0.0:0:0:0:0:0:0.0.0.:0.0.0.¢
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PiecewiseFunction Answers for No.9721

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -17 | -15 | =13 | -11 | -9 | =7 1 -5 | -3 | -1 | NA | -3 | -4 | -5 | -6 | =7 | -8 | -9 | =10 | -11 | -12 | -13 |
Ans02 : f(x)| -13 -12 | -11 -10 | -9 -8 | -7 -6 | =5 -5 1 =5 -5 1 =5 -5 1 -9 -11 | -13 -15 | =17 | -19 =21 |
Ans03
B+x ; x<=-2
=]
2x-1 ,; x> -2
f(-3)=-6, ,f(-2)=-5, ,f(1)=-3, ,f(2)=-5 ,f(3)=-7
Ans04
-1 K x< -3
f(x)=| x+2 ,; -3 <x<2
2x+2 ; x> 2
f(-3)=N4, ,f(-1)=1, ,f(0)=2, ,f(2)=N4, ,f(4)=-6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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PiecewiseFunction Answers for No.9789

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | -5 | NA | 6 | 8 | 10 | 12 | 14 | 16 | 18 |
Ans02 : f(x)| -24 | -22 | -20 | -18 | -16 | =14 | =12 | NA | -2 | -2 | -2 -2 | -3 | -4 -5 -6 =71 =81 -9 | -10 | -11 |
Ans03
x—1 sox< -1
f(x):[ ]
2x-2 ; x>=-]
f('3):'4’ ,f(-l):(), ,f(O):-Z, af(l):'47 ’f(2)2'6
Ans04
2x-3 x< -3
fix)=} x-1 ; -3<=x<2
1 N x>=2
f(-4)=5, ,f(:3)=-4, ,f(1)=0, ,f(2)=1, ,f(4)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-2 | 0 | 2 | 2 | 2 | Discontinuous |
1 4 | 1] 1] 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKXXKXKXXXXKXKXKXXKXXXKXKXKXXKXKXKXKXKXKXKXKKKXKXKXKK XXX KKK KKK XKXKKKXKX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.9.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LT LT ORI O h N0) ¢
PiecewiseFunction Answers for No.9795

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 15 | 14 | 13 | 12 | 11 | 0 | 9 | 8 | 7 6 | 5 | 4 | 6 | 8 | 10 | 12 | 14 | 16 | 18 | 20 | 22 |
Ans02 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | NA | 7 7 7 7 7 | NA | 8 | 9 | 10 | 11 | 12 | 13 | 14 |
Ans03
1l-x ; x<=-1
f(x){
2x+3 ; x> -1
f('4):5’ af('3):47 ,f(-2)23, ,f(-l):Z, ’f(3):9
Ans04
2x+1 x< -1
f(x)= 6 ;-1 <x<=3
x+3 N x> 3
f(-4)=9, ,f(-2)=5, ,f(-1)=N4, ,f(2)=6, ,f(3)=6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -9 | 3 3 3 3 | Continuous
-4 | 2 | 2 | 2 | 2 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
7 5 | 3 3] 3 | Discontinuous |
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PiecewiseFunction Answers for No.9839

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 f(x) | 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | NA | 3 4 | 5 6 | 71 8 | 9 | 10 | 11 | 12 | 13 | 14 |
Ans02 : f(x)| 8 | 7 6 | 5 | 4 | 3 | 2 1 o1 -1 1] 3| 3] 3| 3] 3| 3] 3| 3 3] 3
Ans03
3+x ; x< -1
f(x)z[
2x+3 ; x> -1
f(-4)=-7, ,f(:3)=-6, ,f(-2)=-5, ,f(-1)=N4, ,f(2)=-1
Ans04
2-x ; x<=-]
fix)=| 6 ;-1 <x< 2
2x+2 x> 2
f(-4)=6, ,f(-1)=3, ,f(1)=6, ,f(2)=N4, ,f(3)=38
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
-5 | undefined | 1] 1| 1 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
11 | 1| 1] 1] 1 | Continuous

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXKXKXXXXXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKKKXKXKXKKKXKXKXKKKX KX KKK KK KX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LTI T ORI Lo i 25794
PiecewiseFunction Answers for No.9843

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 19 | 17 | 15 | 13 | 11 | 9 | 7 -2 | -1 | 0 | 11 2 | 3| 4 | 5 | 6 | 7 8 | 9 | 10 | 11 |
AnsO2 : £f(x)| -2 | -2 | -2 | -2 | -2 -2 | -2 -2 -2 -3 | -4 -51] -6 1 3 5 | 7 9 | 11 | 13 | 15 |
Ans03
—x-3 ; x<2
f(x):[ }
2x-1 ; x>=2
f(-3)=0, ,f(-2)=-1, ,f(-1)=-2, ,f(2)=3, ,f(4)=7
Ans04
5 ;s x<=-1I
f(x)={-2x+3 ,; -1 <x<3
x—1 N x>=3
f('4):5a ,f(-l)ZS, 7f(0):3’ 7f(3):2’ af(4):3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-4 | 2 | 2 | 2 | 2 | Continuous
-2 | 0 | 2 | 2] 2 | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
7 5 | 3 3] 3 | Discontinuous |

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXKXKXKXKXXKXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXKKKXKX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DRV R NCIVIVEND’'0:0:6:0.0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA TN T ORI o ) ¢
PiecewiseFunction Answers for No.9854

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -2 | NA | 8 | 9 | 10 | 11 | 12 | 13 | 14 |
Ans02 : f(x)| 6 | 5 | 4 | 3 | 2 1 o1 -1 9 | 9 | 9 | 9 | 9 | 9| 11| 13 | 15| 17 | 19 | 21 | 23 |
Ans03
x+3 ; x<=-2
f(x):[ ]
2x+3 ; x> -2
f(-3)=0, ,f(-2)=1, ,f(-1)=5, ,f(3)=-3, ,f(4)=-5
Ans04
2x-3 x<=-3
fix)={ -9 ; -3 <x<3
—x-2 x> 3
f(-3)=-9, ,f(-2)=-9, ,f(0)=-9, ,f(2)=-9, ,f(3)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -8 | undefined | 2 | 2 | 2 | Discontinuous
-7 | 2 | 2 | 2 | 2 | Continuous
2 4 | 2 4 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
12 | 3 3 3 3 | Continuous

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXKXXXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKXKXKXKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DRV ERRNCIVIVEND’'0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0:0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.6:0.0.6:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | [ YA LT TN T O N R I O N /5794
PiecewiseFunction Answers for No.9862

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -12 | -11 | =10 | -9 | -8 | =7 1 -6 | -5 | -4 | -3 | -3 | -5 | =7 | -9 | -11 | -13 | =15 | =17 | =19 | =21 | =23 |
Ans02 : f(x)| -4 1| -4 | -4 -4 | -4 -4 | -4 -4 | -4 -3 =21 -11 0 | 1| -13 | -15 | =17 | =19 | =21 | =23 | =25 |
Ans03
2x+1 ; x< -2
f(x){
—x-2 ; x>=-2
f(-4)=-7, ,f(-2)=0, ,f(-1)=-1, ,f(1)=-3, ,f(2)=-+4
Ans04
3 : x<=-3
fix)={-2x-3 ; -3 <x<=2
x—1 N x> 2
f(-3)=3, ,f(-2)=1, ,f(-)=-1, ,f(2)=-7, ,f(3)=2
a f(a) | LH-Limit | RH-Limit Limit Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous
11 | 1| 1] 1] 1 | Continuous

X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXXXXXKXXKXKXXKXXKXKXKXXKXXXKXKXKXKXKXKKKXKXKXKXKXKKXKXKXKKKXKX KKK KKK XKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERHRNCIVIVEND’'$:0:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT TN T ORI O ) ¢
PiecewiseFunction Answers for No.10278

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -23 | -21 | -19 | -17 | =15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 1 -2 | -3 | -4 | -5 | -6 | -7 | -8 | -9
Ans02 : f(x)| 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 4 | 3] 2| 1| NA | 9 | 1 3 5 | 70 19 | 21 |
Ans03
2x+1 ; x<1
f(x){
x+3 ;ox> 1
f(-4)=9, ,f(0)=1, ,f(1)=N4, ,f(2)=5 ,f(4)=7
Ans04
5 N x< -2
f(x)={-2x+1 ; -2 <x<2
x+1 N x>=2
f(-3)=5, ,f(-2)=N4, ,f(1)=-1, ,f(2)=3, ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-4 | 2 2 | 2 | 2 | Continuous
8 | 4 | 4 | 2 | DNE | Discontinuous |
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXXKXKXKXKXXXKXKXXKXXXKXKXKXXKXKXKKKXKXKXKXKXKKXKXKXKKKXKXKXKKKX KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT TV T O N R I O h ) ¢
PiecewiseFunction Answers for No.10361

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 24 | 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 | NA | 2 | 3| 4 | 5 | 6 | 7 8 | 9 |
Ans02 : f(x)| 21| 19| 17 | 15 | 13 | 11 | 9 | 7 5 | 3 | 2 3 | 3 3 | 3 3 | 3 3 | 3 3 3
Ans03
2x-3 ; x<=1
f(x>=[
3—x ; x>1
f('3):'9’ 7f('2):'7’ af(l):'la ,f(2):1, ’f(4):'1
Ans04
2x-2 x<=-1
fix)=} x-1 ; -1 <x<=2
1 N x> 2
f(-2):2, ,f(-l):(), 7f(1):0’ 7f(2):1’ 7f(4):1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKXKXKXKKKXKX KX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERHRNCIVIVEND’'0:0:6:0.0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT TNV T ORI Lo i 94
PiecewiseFunction Answers for No.10532

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -14 | -13 | -12 | -11 | -10 | -9 | -8 | =7 1 -6 | -2 | -4 | -6 | -8 | -10 | -12 | -14 | -16 | =18 | =20 | =22 | -24 |
Ans02 : f(x)| -25 | -23 | -21 | -19 | -17 | -15 | -13 | -11 | -9 | NA | -2 | -2 | -3 | -4 -5 -6 =71 -8 =9 | -10 | -11 |
Ans03
1l-x ; x<2
f(x)=[
2x-3 ; x>=2
f(-4)=5, ,f(:3)=4, ,f(-1)=2, ,f(2)=1, ,f(4)=5
Ans04
-1-x ; x<=-I
fix)=| 0 ;-1 <x< 2
2x-3 x>=2
f('3):2a ’f('l):oa 7f(1):0’ 7f(2):1’ af(3):3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
=7 | 2 2 | 2] 2 | Continuous
-6 | 2 2 | 2 | 2 | Continuous
10 | 0 | 0 | 0 | 0 | Continuous

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXKXXKXKXKXKXXXKXKXKXKXKXKKKXKXKXKXKKKXKXKXKKKXKXKXKKKXKXKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA TN LT O N A0 I Lo <) 04
PiecewiseFunction Answers for No.10688

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 12 | 11 | 10 | 9 | 8 | 71 6 | 5 4 | 3 2 1 0 | 1| 3 5 7 9 | 11 | 13 | 15 |
Ans02 : f(x)| 2 | 2 | 2 2 | 2 2 | 2 2 | 2 2| 4| NA)| -4 -5| -6 -7 =81 =9 -10 | -11 | -12 |
Ans03
3+x ; x< -2
=]
2x+2 ; x>=-2
f('4):'7’ af('2)267 ’f('l):4’ af(z):'za ’f(4):'6
Ans04
-2 K x< -3
f(x)=} x+1 ; -3 <x<2
2x-1 x> 2
f(-3)=N4, ,f(-1)=0, ,f(0)=1, ,f(2)=N4, ,f(3)=-7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -5 | undefined | 1] 1] 1 | Discontinuous |
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
9 | 4| 1 1 1 | Discontinuous |

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXKXKXXXXXKXKXXXXXKXKXKXXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKXKX KX KKK KKK XKXKK KK XXX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0.0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.6:0.0.0:0.6:0.0.0:0.0:6:0.0 ¢ | (YA LT T ORI O N ) ¢
PiecewiseFunction Answers for No.10868

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1] 2 | 3] 4 | 5 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -2 | -4 | 6 | 7 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15 |
Ans02 : f(x)| 19 | 17 | 15 | 13 | 11 | 9 | 7 | NA | 5 | 5 | 5 | 5 | 5 | 0| 1] 2 | 3 4 | 5 | 6 | 7
Ans03
2x+2 ; x< -1
f(X)=[
-1-x ; x> -1
f(-4)=-6, ,f(3)=-4, ,f(-2)=-2, ,f(-1)=N4, ,f(1)=-2
Ans04
2x-3 x<=-3
fix)= 3 ;3 <x<1
x—1 N x>=1
f(-3)=3, ,f(-2)=3, ,f(-1)=3, ,f(1)=0, ,f(2)=1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
3 1 5 | 3 3] 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXXKXKXXXXXKXKXXKXXXKXKXKXKXKXKXKXKXKXKXKXKXKXKXKKKXKX KKK KK KX KKK KK KX KX KKK KX KKK X KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA TN LT O N 01010 1240) ¢
PiecewiseFunction Answers for No.10900

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 9 | 8 | 7 6 | 5 | 4 | 3| 2 11 0 | -1 | -2 | 1] 3 5 | 7 9 | 11 | 13 | 15 | 17 |
Ans02 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | -10 | 7 6 | 5 | 4 ] 3| 2 | 1| 1] 1| 1] 1| 1 1] 1
Ans03
2x+3 ; x<2
f(x){
—1-x ; x> 2
f(-3)=-3, ,f(0)=3, ,f(1)=5 ,f(2)=N4, ,f(4)=-5
Ans04
2x-2 x<=-2
f(x)=} x+1 ; -2 <x<2
3 N x>=2
f(-2):2, ’f('l):oa 7f(0):1’ 7f(2):3’ af(3):3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-5 |  undefined | 1 1 1 | Discontinuous |
-3 | undefined | infinity | infinity | infinity | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKKKK KKK KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’'0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6 0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT TV T ORI [ A D794
PiecewiseFunction Answers for No.11693

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 f(x) | 17 | 15 | 13 | 11 | 9 | 71 5 | 3 11 2 3| 4 | 5 | 6 | 7 8 | 9 | 10 | 11 | 12 | 13 |
Ans02 : f(x)| 6 | 5 | 4 | 3 | 2 1| 0 | 3 | 3 3| 3] 3| 5 | 7 91 11| 13 | 15| 17 | 19 | 21
Ans03
x—2 ;ox<=1
f(x):[ }
2x+3 ; x> 1
f('4):'67 ’f('3):'5a ,f(-2)2-4, ,f(O):-Z, 7f(1):'1
Ans04
2x+2 x<=-]
fix)=| 0 ;-1 <x< 2
-x-2 x>=2
f(-4)=-6, ,f(-1)=0, ,f(1)=0, ,f(2)=-4, ,f(3)=-5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-2 | 0 | 2 | 2] 2 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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DGRV ERRNCIVIVEND’0:9:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT TNV T ORI [0 1275794
PiecewiseFunction Answers for No.12097

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1 2 3 | 4 | 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | -10 | 0 | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 | -9 | =10 | -11 | -12 | -13 |
Ans02 : f(x)| 5 | 4 | 3 2 | 1| ol -1 1 =31 -1/ 1| 3] 5 | 7 9 | 9 | 9 | 9 | 9 | 9 | 9 | 9 |
Ans03
—x-2 ; x<2
f(x):[ }
2x-3 ; x>=2
f(-3)=1, ,f(0)=-2, ,f(1)=-3, ,f(2)=1, ,f(3)=3
Ans04
-2x+3 ; x<=-1
fix)={ x-2 ; -1 <x<2
0 N x>=2
f(-2)=7, ,f(-1)=5, ,f(0)=-2, ,f(2)=0, ,f(4)=0
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -7 | 2 | 2 | 2 | 2 | Continuous
-5 |  undefined | 1 1 1 | Discontinuous |
-4 | 2 2 | 2] 2 | Continuous
2 4 | 2 | 4 | DNE | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |
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DGRV ERRNCIVIVEND’$:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA T TN T O N 00 J0 1235) ¢
PiecewiseFunction Answers for No.12172

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 18 | 16 | 14 | 12 | 10 | 8 | 6 | 4 | 2 0 | -2 | -4 | 4 | 5 6 | 7 8 | 9 | 10 | 11 | 12 |
Ans0O2 : f(x)| 23 | 21| 19| 17 | 15 | 13 | 11 | 9| NA| -4 | =31 =21 -1 0 | 01 0 | 01 0 | 0 | 0 | 0 |
Ans03
2x+3 ; x<=1
f(x){
x+1 ;x> 1
f(-4)=11, ,f(-1)=5, ,f(0)=3, ,f(1)=1, ,f(3)=4
Ans04
0 : x< -1
fix)={ x+1 ; -I<=x<1]
2x-2 N x> ]
f(-4)=0, ,f(-3)=0, ,f(-1)=0, ,f(0)=1, ,f(1)=NA
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-9 | 3 3 3 3 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
2 4 | 2 | 4 | DNE | Discontinuous |
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L TN LT ORI JO I-.X/579:¢
PiecewiseFunction Answers for No.12173

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 11 | 10 | 9 | 8 | 7 6 | 5 | 4 | 3| 2 11 0 | -1 | 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
AnsO2 : f(x)| -19 | -17 | -15 | =13 | =11 | -9 | -7 | =5 | =3 | 3 | 2 1] ol - -1 -2 -1 -1 -1 -1 -1
Ans03
2x+2 ; x<2
)=
—1-x ; x>=2
f(-2)=-2, ,f(-1)=0, ,f(1)=4, ,f(2)=-3, ,f(3)=-+4
Ans04
4 ; x<=-3
fix)={ 1-x ; -3 <x<1
2x-2 x>=]
f('3):4a ’f('l):za 7f(0):1’ 7f(1):0’ af(4):6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-9 | 3 3 3 3 | Continuous
-8 | undefined | 2 2] 2 | Discontinuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |

X [Page = 0024] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXKXKXXXXKXKXKXXXKXKXKXKXKXKKKXKKXKXKXKKKXKXKXKKKXKXKXKKKX KX KKK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’$:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA T TN LT O N 010 J0 12355704
PiecewiseFunction Answers for No.12180

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -18 | -16 | -14 | -12 | -10 | -8 | -6 | NA | -1 | -2 | -3 | -4 | -5 | -6 | =7 | -8 | -9 | =10 | -11 | -12 | -13 |
Ans02 : f(x)| -9 -8 -7 -6 -5 -4 -3 -2| -2 -2 -2 -2 =21 -5 =71 -9 -11 ] -13 | =15 | -17 | -19
Ans03
2x+2 ; x<1
)=
3+x ; x>=1
f('2)26a ,f(O):Z, ’f(l):'za 7f(3):0’ 7f(4):1
Ans04
2x+3 x<=-3
fix)={ x+2 ; -3 <x<=1
3 N x> 1
f('3):9a ’f('l):la 7f(0):2’ 7f(1):3’ af(3):3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-11 | -2 | 1 1 1 | Discontinuous |
=7 | 2 2 | 2] 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |
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DGRV ERRNCIVIVHND’0:9:0:0.0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.0°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA TN T O N 010 J0 1215) ¢
PiecewiseFunction Answers for No.12256

x| -101] -9 -8 -7 =61 -5 =41 =3 =21 =11 0] 11 21 31 41 5] 61 71 8 | 9 1 10 |
Ans01 : f(x)| 6 | 5 4 | 3 2 1 0 | -1 | -2 | -3 | -4 | -5 | 1] 3 5 | 71 9 | 11 | 13 | 15 | 17 |
Ans02 : f(x)| 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 5 | 4 ] 3 | 2 1| 13| 15| 17 | 19| 21 | 23 | 25 |
Ans03
2x+1 ; x<2
f(x){
x+2 ;ox> 2
f(-4)=9, ,f(-2)=5, ,f(0)=1, ,f(1)=-1, ,f(2)=NA
Ans04
3 N x< -1
fix)=] 2—-x , -I<=x<=2
2x+3 x> 2
f(-1)=3, ,f(1)=1, ,f(2)=0, ,f(3)=9, ,f(4)=11
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-6 | 2 | 2 | 2 | 2 | Continuous
7 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
11 | 1| 1] 1] 1 | Continuous

X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXKXKXXXKXKXKXKXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKKKXKXKXKKKKXKXKXK KKK XXX KKK KX KX KX KKK KX KX KKK KX KXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0.0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.:0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA T LI T ORI Lo I D ¢
PiecewiseFunction Answers for No.12278

x| -0} -9 -8 -7 -6 -5 -4 =31 -2 -1]1] 0 | 1 2 3 4 5 | 6 | 7 8 | 9 | 10 |
Ans01 : f(x)| -22 | -20 | -18 | -16 | -14 | -12 | -10 | -8 | -6 | -4 | -2 | NA | 3| 2 11 0 | -1 | -2 | -3 | -4 | -5 |
Ans02 : f(x)| 22 | 20 | 18 | 16 | 14 | 12 | 10 | 8 | 8 | 8 | 8 | 8 | 8 | 7 8 | 9 | 0 | 1 2 1 13 | 14 |
Ans03
3—x ; x<2
)=
2x-1 ; x>=2
f(-4)=7, ,f(-3)=6, ,f(-1)=4, ,f(1)=2, ,f(2)=3
Ans04
2x-1 x<=-3
fix)=| -7 ;-3 <x<=1
-1-x x> 1
f(-3)=-7, ,f(-)=-7, ,f0)=-7, ,f(1)=-7, ,f(2)=-3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
3 | 5 | 3 3 3 | Discontinuous |
7 5 | 3] 3 3 | Discontinuous |
8 | 4 | 4 | 2 | DNE | Discontinuous |
9 | 4| 1 1 1 | Discontinuous |
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA L TN T O N 010 J0 124 :) ¢
PiecewiseFunction Answers for No.12482

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 9 | 8 | 7 6 | 5 | 4 | 3| 2 11 1 3| 5 7 9 | 11 | 13 | 15 | 17 | 19 | 21 | 23 |
AnsO2 : f(x)| -2 | -1 | -1 | -1 | -1 -1 | -1 1] -1 | -1/ 0 | 1] 2 | 3| NA| -6 -8 ] -10 | -12 | -14 | -16 | -18 |
Ans03
2x-2 ; x<=1
f(x)=[
1l-x , x>1
f(-3)=-8, ,f(0)=-2, ,f(1)=0, ,f(3)=-2, ,f(4)=-3
Ans04
2x-2 ; x<=-]
flx)=|x-3 ,; -1 <x<2
-5 N x> 2
f(-3)=-8, ,f(-2)=-6, ,f(-1)=-4, ,f(1)=-4, ,f(2)=N4
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
1 4 | 1 1 1 | Discontinuous |
12 | 3 3 3 3 | Continuous

X [Page = 0028] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXKXXXXXKXKXKXXXKXKXKXKXKXKXKXKXKXKXKXKKXKXKXKK XXX KKK KKK XKXKKKXKX KKK KKK XXX KX KKK KX KKK KKK XKXKKKKXKXK



DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA TN T O N 010 J0 122°) ¢
PiecewiseFunction Answers for No.12586

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -19 | -17 | -15 | =13 | -11 | -9 | =7 | -5 | -3 | -1 | 11 3 5 | 7 0 | -1 | -2 | -3 | -4 | -5 | -6
Ans02 : f(x)| 5 | 4 | 3 2 | 1| ol =11 -2 1 =31 =41 -2| 0 | 01 0 | 01 0 | 01 0 | 0 | 0 | 0 |
Ans03
2x-3 ; x<-2
f(x){
x+1 ;ox>=-2
f('4):5’ af('3):37 ’f('z):'la ’f(2)237 ’f(4):5
Ans04
1 N x< -3
fix)=| x-2 , -3<=x<1
2x-2 x>=]
f('3):1’ 7f('1):'1’ af(o):'za ,f(l)IO, ’f(4):6
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-3 |  undefined | infinity | infinity | infinity | Discontinuous |
2 4 | 2 4 | DNE | Discontinuous |
3 5 | 3] 3 3 | Discontinuous |
5 2 2 | 2 2 | Continuous
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DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0.0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA LT LT ORI Je Ic10) 04
PiecewiseFunction Answers for No.12677

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 5 | 4 | 3| 2 11 0 | -1 | -2 | -3 | -4 | -5 | 3 5 | 7 9 | 11 | 13 | 15 | 17 | 19 | 21
AnsO2 : f(x)| -18 | -16 | -14 | =12 | =10 | -8 | -6 -4 | NA| -1 | -2 -3 -3 -3 -3| =311 -3 -3 =31 =31 =31
Ans03
x+1 sox<=-1
f(x):[ }
2x-1 ; x> -1
f(-4)=-3, ,f(-2)=-1, ,f(-1)=0, ,f(0)=-1, ,f(4)=-9
Ans04
2x-3 x< -1
f(x)= -1 ;, -l<=x<3
x—1 N x>=3
f('3):3’ 7f('1):'1’ af(l):'la ’f(3):27 ’f(4):3
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
=7 | 2 2 | 2 | 2 | Continuous
-4 | 2 2 | 2 | 2 | Continuous
11 | 1| 1] 1] 1 | Continuous
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DGRV ERRNCIVIVEND’0:0:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | [ YA TV T ORI [ ICH D704
PiecewiseFunction Answers for No.13490

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| 17 | 15 | 13 | 11 | 9 | 71 5 | 3 11 -1 | -3 | -2 | -1 | 0 | 1] 2 3 4 | 5 | 6 | 7
Ans02 : f(x)| 8 | 7 6 | 5 | 4 | 3 | 2 T/ -y -7/ -5/ -3/ -/ - - - -1 -1 -1 -1] -1
Ans03
2—-x ; x<=-2
f(x):[ }
2x+3 ; x> -2
f(-4)=6, ,f(-3)=5, ,f(-2)=4, ,f(1)=5 ,f(4)=11
Ans04
2—-x x< -2
fix)=]2x+1 , -2<=x<3
7 ; x>=3
f(-2):-3, ’f('l):'la ,f(O):l, ,f(2):5, ’f(3):7
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-9 | 3 3 3 3 | Continuous
=7 | 2 2 | 2 | 2 | Continuous
-6 | 2 2 | 2 | 2 | Continuous
1] 4| 1 1 1 | Discontinuous |
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DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0.0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | (YA LTV T ORI [0 [ 12370 ¢
PiecewiseFunction Answers for No.13500

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -6 | -5 | -4 | -3 | -2 | -1 | 0 | 1 2 0 | -2 | -4 | -6 | -8 | -10 | -12 | -14 | =16 | =18 | =20 | =22 |
Ans02 : f(x)| 15 | 13 | 11 | 9 | 7 5 | 3 | i1/ -1} -5 -4 NA| -3 -3 -3| -3 -3 -3 =31 =31 =3/
Ans03
—1-x ; x<=-2
)=
2x-1 ; x> -2
f(-3)=2, ,f(-2)=1, ,f(-1)=-3, ,f(0)=-1, ,f(1)=1
Ans04
2x+2 x<=-3
fix)=| x+3 ; -3 <x<=2
5 N x> 2
f(-3)=8, ,f(0)=3, ,f(2)=5 ,f(3)=5 ,f(4)=5
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -10 | 1| 2 | 2 | 2 | Discontinuous
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-5 | undefined | 1] 1| 1 | Discontinuous |
-3 | undefined | infinity | infinity | infinity | Discontinuous |
3 5 | 3 3] 3 | Discontinuous |
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PiecewiseFunction Answers for No.13637

x| -10 | -9 -8 =7 -6 | -5 -4 =31 -2 -1/ 0 1] 2|
Ans01 : f(x)| 15 | 13 | 11 | 9 7 5 3| 1 -1 | -3 | -5 =7 1 4 |
Ans02 : f(x)| -9 1| -9 -9 -9 -9 ! -9 -9 1 -9 NA| =7 ] =5 -3 1 -1
Ans03
2—-x ; x<=2
f(x>=[
2x-1 x> 2
f(-3)=5, ,f(-1)=3, ,f(2)=0, ,f(3)=5,
Ans04
-1 K x<=-1
fix)=| x-2 , -1 <x<=1
2x-1 x> 1
f(-1)=-1, ,f(0)=-2, ,f(1)=-3, ,f(2)=3,
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -12 | 1| 2 | 2 | 2 | Discontinuous
-4 | 2 | 2 | 2 | 2 | Continuous
1 4 | 1] 1] 1 | Discontinuous |
5 | 2 2 | 2 | 2 | Continuous
12 | 3 3 3 3 | Continuous
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f(4)=7

f(4)=7

):0:0:0:9:9:0.0:9:9:0.9.0:0:9.9:0.0.0:0:9:9.9.0.0:9.9:0.0.0:0:9,9.0.0.0:0.9.0.0.0:0.9.0.0.0.0:0.9,0.0.0:0.9.9.0.0.0:0.9,9.0.0:0:9:9.0.0.0:0.9.0.0.0:0.:9.9.0.0.0.9.9.0.0.0:0.9.0.0.0.0.:0.9,0.0.0:0.9.0.0.0.0:0.9.9.0.0.0.9.0.0.0.0.0.:0.9.0.0.0:0.9.9.0.0.0.:0.9.0.0.0:0.9.0.0.4
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PiecewiseFunction Answers for No.14015

x| -0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0} 1| 2| 31| 4| 5| 611 71 81 91 10 |
Ans01 : f(x)| -5 | -4 | -3 | -2 | -1 | 0 | 11 2 9 | 71 5 | 3 1] -1 | -3 -5 | -7 -9 | -11 | -13 | =15 |
Ans02 : f(x)| -3 | -3 | -3 ] -3| -3 -3 -3 1] -3 | NA | -1/ 1] 3| 51 -1 -2 -3 -41 -5 -61 =71 -89
Ans03
2x-3 ; x<=-1
=]
x+2 ;x> -1
f(-3)=3, ,f(-1)=-1, ,f(0)=2, ,f(3)=5 ,f(4)=6
Ans04
x-1 x<=-1
fx)=|2x+3 ; -1 <x<=1
1 N x> 1
f('4):'5’ 7f('3):'4’ 7f('1):'2’ 7f(1):1’ 7f(4):1
a | f(a) | LH-Limit | RH-Limit | Limit | Continuity
Ans05 -11 | -2 | 1] 1] 1 | Discontinuous |
-8 |  undefined | 2 | 2 | 2 | Discontinuous
-6 | 2 2 2] 2 | Continuous
-3 | undefined | infinity | infinity | infinity | Discontinuous |
5 2 2 | 2 2 | Continuous
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